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#include <math.h>

#define DTOR (3.141592654/180.0) f\\ V\&,\ r

Pl

O'\—

main(argc, argv) 1 (
int argc;

char *argv(]:
{

int i, 3, ks whot makes Velljphiead”
ggﬁi: ::{?;i.ré;}élf[z;;ﬁﬂ. 1, theta, test; rex\’tt-b’n' s ffs« “‘jm gre
sscanf (argv[1l], "$le", &test ); “‘he ('f{)plt& SUF‘F‘LU‘ "‘"
$[01=1000.0; s[1]=0.0; s[2]=10.0; o lake ?

r[0]=0.0; r(1]=0.0; r[2]= 1.0;
printf('x\i:y\n');

for( i=1; i<1000; i++ ) { for( j=100; j>=0; j— ) {
x[0]=(double)i; x[1l]=(double)j/10.0; x[2]1=0.0;

1=0.0; for( k=0; k<3; k++ ) { tl(kl=s[kl-x[k]; l+=tl[k]*tl[k]; }

1l = sqrt(l); for( k=0; k<3; k++ ) tl[k]/=1;

=0%0; for( k=0; k<3; k++ ) { t2[kl=r[k]-x[k]; l+=t2[k]*t2[k]; }

sqrt(l); for( k=0; k<3; k++ ) t2[k]l/=1;

0; for( k=0; k<3; k++ ) { t3[k]=0.5*(t1l[k]l+t2([k]); 1l+=t3[k]*t3([k]; }

1=
1l =
1=0.
1 = sgrt(l); for( k=0; k<3; k++ ) t3[k]/=1;
theta = acos(t3[2]) /DTOR;

if(

}

(theta<=test) || (x[01==0.0) ) { printf("$f\t$f\n", x[0], x[1] ); break;
}
exit(0);
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